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1580 447 42 104 1.7 12 86.7
325 44 437 98 15 0.9 817
355 47 40.3 96 23 08 873
364 437 42 1.3 16 14 85.7
174 36.8 52.3 9.8 1.1 0 89.1
30 56.7 233 16.7 0 33 80
45 533 356 6.7 44 0 88.9
48 58.3 25 125 21 21 833
37 514 35.1 135 0 0 86.5
18 444 333 1.1 56 56 77.8
29 483 345 13.8 0 34 828
83 458 446 84 12 0 90.4
685 431 422 123 15 1 85.3
48 438 354 16.7 21 21 79.2
77 429 36.4 15.6 52 0 79.2
12 46.4 40.2 134 0 0 86.6
99 414 46.5 8.1 2 2 879
65 415 523 46 15 0 938
284 426 419 134 0.7 14 845
874 46.2 421 87 18 1.1 88.3
54 50 40.7 74 19 0 90.7
122 46.7 426 74 33 0 89.3
157 446 484 45 25 0 93
133 48.1 40.6 9 15 08 88.7
76 48.7 382 92 26 13 86.8
331 447 408 1.2 0.9 24 855
685 431 422 123 15 1 85.3
874 46.2 421 8.7 18 1.1 88.3
102 471 382 1.8 2 1 853
199 452 40.2 10.6 4 0 854
270 456 448 8.1 15 0 90.4
232 453 431 86 1.7 13 884
141 454 447 71 21 0.7 90.1
615 437 413 12.2 08 2 85
109 505 349 138 0.9 0 85.3
13 538 385 17 0 0 923
37 64.9 27 8.1 0 0 919
59 40.7 39 18.6 1.7 0 79.7
35 457 40 143 0 0 85.7
12 58.3 333 83 0 0 91.7
9 222 444 333 0 0 66.7
14 50 429 71 0 0 929
633 436 447 88 21 08 88.3
98 49 408 82 1 1 89.8
283 424 452 95 21 0.7 876
175 451 434 8 23 1.1 886
77 377 50.6 9.1 26 0 88.3
746 446 418 105 15 16 86.5
552 442 433 9.4 13 18 875
12 66.7 25 83 0 0 91.7
182 445 385 13.7 22 1.1 83
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EXRE 1580 447 42 104 17 12 86.7
[REEXITRATVAORTESTTN(FA)]
[FUO(EICKZTNS) 778 447 424 104 1.2 13 87.1
DR (EICKRZTOELY) 750 45.1 421 9.9 2 09 87.2
[EIZRFHEXZ TS HORBXK (F4-1)]
BEXEGH 79 456 38 127 25 13 835
| i-ES 14 50 35.7 143 0 0 85.7
BIY—ER%E 27 407 444 148 0 0 85.2
BE¥ 38 474 342 105 53 26 816
RIEHEEE (5t) 7 286 na 0 0 0 100
| -ES 1 0 100 0 0 0 100
BIY—ER%E 3 333 66.7 0 0 0 100
Z]:ES 3 333 66.7 0 0 0 100
A GGH 384 422 46.4 86 26 03 885
SRR, 104 442 48.1 48 29 0 923
EARESURE 200 134 388 50.7 9 15 0 89.6
IR - —E R 79 468 405 10.1 25 0 873
T 67 403 418 19 45 15 82.1
i 251 49 36.7 12 12 2 85.7
[ KEESE(F5) ]
I 264 46.6 36.7 133 3 04 833
BEIS (B1BE ) 1116 45 432 94 13 12 882
BEIS (BRRIBERESERI) 161 429 429 9.9 25 19 85.7
[ FELOHREFS) ]
1A 250 488 216 7.6 1.2 08 904
2A 689 454 78 106 1.2 1 87.2
3A 211 389 419 95 24 14 86.7
N 21 38.1 429 95 48 48 81
SALLE 4 75 25 0 0 0 100
FHRELEN 346 442 416 11 2 1.2 85.8
[ FELOFH(FE—1) ]
0~2EBDFES 72 458 431 6.9 28 14 88.9
BBULDRREDFEL 85 412 459 94 35 0 87.1
INER - R EREFROTFED 191 424 455 9.4 2.1 05 88
BREFDOFEL 78 385 474 15 26 0 859
EA-BE-BHEPR-BEPRITEEROFES 20 40 40 10 5 5 80
R RFRELPDOFEL 85 518 388 71 24 0 90.6
PREBRATRBOTFED 322 444 438 84 12 22 882
fEELI=TFED 170 435 424 10 24 18 859
REBLTWSFELFLEL 280 464 421 10.7 0.4 04 88.6
[RiEHERL(F7)]
By 134 46.3 388 19 3 0 85.1
KIFDH 447 47 425 83 13 0.9 895
ZHREE ST 715 428 45 9.9 1.1 1.1 878
SHAHHEETFER) 151 53 33.1 19 13 0.7 86.1
Z 0t 59 407 424 10.2 34 34 83.1
[ 6s5BULDOREHEFS) ]
(A% 941 451 407 1.8 1 15 85.8
(AL 610 448 4.1 79 28 05 88.9
[ EERAEF) ]
BR(—F#@) 993 458 413 106 14 0.9 87.1
HEIU Ay 232 405 46.1 95 17 22 86.6
RMoBR(—F&) 34 382 55.9 29 29 0 94.1
BREO7/S\—k-2oay 156 532 37.2 77 19 0 90.4
A4t URERTIEHE - RAETA E{E S 63 36.5 39.7 175 48 16 76.2
HEGEDIHSEE 16 438 375 1838 0 0 813
EHAH-TR-HEE 2 50 0 0 50 0 50
Z0th 12 333 58.3 83 0 0 91.7
[ FEREEEH(F10) ]
R 11 364 54.5 0 9.1 0 90.9
THE~3FERE 23 522 348 13 0 0 87
BFE~SFRME 19 52.6 421 5.3 0 0 947
SE~10ERK 56 411 429 125 18 18 83.9
104 ~ 155 R 64 469 359 14.1 31 0 828
154 ~ 205 K% 70 529 329 114 29 0 85.7
204F ~ 304K 278 453 457 65 18 07 91
30ELE 984 443 421 11 14 1.2 86.4
ez t=vAy ) 6 66.7 0 16.7 16.7 0 66.7



